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1 TWINS MR 5235 1 4700 4.300 9.000
2 Wing&EZDEBERG. LIS K] 1 3.000 4.500 7.500
3 BIYVYITILARG faw = 1 3.400 3.700 7.100
4 TWINS MR DD P 3.000 3.000 ©6.000
5 WinglrAEDRG. XK RE 1 2.800 2750 5.550
6 FRBEOSTAU-T R #3 1 2700 2.250 4.950
7 WingH#=ERG. EEERE P 2.000 2350 4350
8 WingH#=ERG. AT =tk 1 1.800 1.750 3.550
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NEfiz PhiE =11 s D E R Bm
1 WingEZDEBERG. =& 8IK 2 5000 4.250 9.250
2 Wingl@AEDRG. NINRIES f2 4600 4.300 8.900
3 BIVYITILARG AW FE 2 5300 3.350 8.650
4 BRIRGCDOST Lk BYY 2 4400 4100 8.500
5 WinglsAEDRG. RS B8 2 4200 4.250 8450
6 BRRGOST XKFH WE 2 4600 3.800 8400
7 WinglzAEDRG. ANVl $2 4100 4.200 8.300
8 BMYAZPHRBN-—SKY BN KR 2 5000 3.000 8.000
9 BRRGOST INKK 55 2 3000 3.900 6.900

10 BEIRG.O>T glls<s  $2 4000 2.700 6.700

11 SERGOST FE E8 2 3100 2200 060 4.700

12 WingH=ERG. LATIDIIES 2 1.200 3.450 4.650

12 SEIRG.Ya1Z7 LW P8 2 2200 2450 4.650
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1 WingEZDEERG. BRUS R 3 3700 4.650 8350
2 BRAM—S5%AY—RG & IWE 3 5100 2650 7.750
3 L1YR—-RGID waE ¥ 3 4400 2950 7.350
4 WingH#=ERG. hAY K 3 2900 3.200 6.100
5 WingH#=ERG. O BRE 3 2400 2700 5.100
6 WingEZDEERG. I ER 3 1.800 2100 3.900
6 WingEZDEERG. AW #JTD P33 2600 1.300 3.900
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1 TWINS B FIR nly| 4200 4150 8350
2 L1YMN—RGHBD KiZE Blx anly 4100 1.950 6.050
3 TWINS AW BB 1 2400 2700 5100
4 BRHIRGIYa1ZT) =R 5 1 2000 3.000 5000
5 TWINS INFR SR5E 1 2.300 2450 4750
6 BRIRGYa2”Z) 180 e 1 2.300 2.150 4450
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[[Efiva [SilES E2=1]] S D E ==} (=I=]
1 L1 YMMN—RG I Fart 5% 2 4900 4150 9.050
2 L1YMN—RGHBD IV IMNED 2 3.300 3.650 6.950
3 Wing&EDEERG. WIS K3k th2 2200 3.800 6.000
3 BTRERGOST L = 2 3.700 2900 060 6.000
5 IRIIRG i =& 2 3.300 2500 5800
6 L1 —RGHD B Ry 2 3.200 2550 5750
7 WingEZDEERG. =W %R 2 1.900 2950 4850
8 WingEZDE&ERG. WE & 2 1.700 1.450 3.150
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[Efiva [SilES EZ=1]] =alk=s D E ==} sm
1 BRNA—S5% XY —RG B FE 3 6.200 4950 11.150
2 WinglmAFEDRG. KB J3R7E 3 5300 5000 10.300
3 WinglmAFEDRG. A EE 3 5200 4850 10.050
4 L1 IYM—RGID 18 == 3 4900 4750 9.650
5 WingEZDE&ERG. o= 3 2800 2550 5350



